
sjgnutiES DUAL 4-INPUT EXPANDER (FOR USE 
WITH S54H50, S54H53, S54H55 CIRCUITS)

SCHEM AT IC (each expander)

N O T E S :

1. Connect to X  input o f  S5 4 H 5 0 , S5 4 H 5 3 , or S 5 4 H 5 5  circuit.
2. Connect to  X  input o f S5 4 H 5 0 , S5 4 H 5 3 , or S 5 4 H 5 5  circuit.
3. C o m p o n e n t values show n are nom inal.

S54H60—A,F,W

DIGITAL 54/74 TTL SERIES
PIN CO NF IG U RAT IO N S

W PAC KAG E

S54H60

F PACKAGE

RECO M M EN DED  OPERAT ING  CO ND IT IO NS

Supp ly Voltage V q q

Maxim um  number of expanders that may be fanned-in to one S 5 4 H 5 0 ,  S54H 53 , or
4 .5 V  to 5.5V

S5 4H 5 5  circuit 4

ELECT R IC A L  CH A R A C T ER IST IC S  (unless otherwise noted TA  « -55°C to 125°C)

PARAM ETER TEST CO ND IT IO NS M IN TYPf M AX UNIT

v in(1) Logical 1 input voltage 
required at all input 
terminals to ensure 
output is in the on state

V c c  = 4.5V 2 V

Vin(O) Logical 0  input voltage 
required at any input 
terminal to ensure 
output is in the off state

V c c  = 4.5V 0.8 V

V on On-state output voltage V C C  = 4.5V, 
'o n  = 5.85m A, 
V c c  = 5 .5V  
lon = 7.85m A,

V in = 2V, 
T A  = -5 5°  
V Tn = 2V, 
T A = 125°C

V t = 1V, 

V t = 0.6V,

0.4

0.4

V

V

'o ff Off-state output current V c c  = 4 .5V, 
R = 5 75 fi,

V in = 0.8V, 
T A  = -5 5 °  C

V t = 4.5V, 320 ix  A

'o n On-state output current V c c = 4.5V, 
T A  = -5 5 ° C

V in = 2V, V - i  = 1V, -4 7 0 p A

'in(O) Logical 0 level input 
current (each input)

V C c  = 5.5V V in = 0.4V - 2 m A

’in(1) Logical 1 level input 
current (each input)

V r r  = 5.5V, 
v“ -S.5V.

V in = 2.4V  
V in = 5.5V

50
1

ix  A  
m A

'C C (on ) On-state supply current V c c  = 5.5V, 
V i  = 0 .85V

V in = 4 .5V, 1.9 3.5 m A

'c C (o ff) Off-state supply current V c c = 5.5V, 
V i  =  0 .85V

V in = 0. 3 4.5 m A

t  A ll typical values are at V q C  -  6 V , T A  -  25°C.
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DIGITAL 54/74 TT L  SERIES ■ S54H60

OUTPUT CAPACITANCE V q q  and G ND  terminals open, T ^  -  25°C.

PAR A M ET ER TEST CO ND IT IO NS M IN  TYP M A X UNIT

Effective capacitance of output 
transistor

f = 1 MHz 1.3 pF
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